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GEOGRAPHY
PAPER - II

epolle
Yy-I1

Note :This paper contains ONE HUNDRED (100) multiple-choice/assertion/
reasoning questions/matching questions. Each question carries TWO (2)
marks. Attempt All the questions.

iy :

2 Wil Wl (100) aglRselly usll, w-wig v Assi orudary Nl 9.

AU WAL YUN v 8. Uds W= A (R) I 8.

The book ‘Kosmos’ was written
by : '

(A) Alexander Von Humboldt
(B) Friedrich Ratzel

(C) Carl Ritter

(D) Vidal de la blache

Most of the river deltas in India
have one of the following along their
seaward edge :

(A) Abundant plantation
(B) Coral reef
(C) Mangrove forest

(D). Semi-deciduous broad leaf
forest

Which is meteorologically a very
important gas as it is transparent
to the incoming solar radiation but
opaque to the outgoing terrestrial
radiation ?

(A) Argon

(B) Carbon dioxide

(C) Neon

(D) Nitrogen
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Which of the following is a cold
current of the Indian Ocean ?

(A) Labrador Current
(B) Venezuele Current
(C) Canaries Current
(D) West Australian Current

Seasonal movement of people with
‘their animals between high and low

lands of Himalayas is known as :
(A) Nomadism

(B) Pastoralism

(C) Transhumane-

(D) Ranching

Which one of the following is not
correct ?

Literacy rates in India are
comparatively high in :
(A) South India than in North

~ India

(B) Coastal areas than in the
interior

(C) Hindi speaking states than in
non-Hindi speaking states

(D) Christian tribal areas than in
non-Christian tribal areas
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Some kind of federalism existed

throughout Indian history is

reflected in the fact that the regions

of India :

(A) Display unity in diversity

(B) Never recognized the supremacy
of the central power

(C) Were never united

(D) Are naturally divided into self-
contained units, which promoted
relative isolation and growth of
distinctive physical and
cultural characteristics

Which one of the following steel
plants is port based ?

(A) Bhillai

(B) Durgapur

(C) Vishakhapatnam
(D) Rourkela

Watershed Development Programme
aims at :

(A) Development of water resources

(B) Conservation of natural

resources
(C) Sustainable livelihood
(D) All the three
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10.

11.

12.

Relief displacement from Aerial 10.

Photographs can be measured by :
(A) Stereoscope

(B) Pantograph

(C) Parallax Bar

(D) Planimeter

The approach in Geography which 11.

states that actions are motivated by

cognitive process is the essence of :
(A) Behaviourism

(B) Determinism

(C) Positivism

(D) Radicalism

Which of the following statements  12.
" regarding landslides is true ?

(A) They occur only during the

monsoon Season
(B) Only anthropogenetic factors
are responsible for their

goccurrence

(C) They occur when the base of

the slope is gentle

(D) They are sudden and sporadic
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13.

14,

15.

. Distance between isotherms

indicate :

(A) Temperature gradient;
(B) Pressure anomaiy
(C) Temperature lag

(D) Humidity anomaly

The islands Sitﬁgtéd on the 14.

Ninetyeast Ridge are :
(A) Lakshadweep
(B) Maldives

(C) Sychelles

- (D) Andaman gnd Nicobar

Generation of nuclear power in India

started with the commissioning of

the first atomic powei' station at :

(A) Narora

(B) Kakrapara
(C) Tarapur

(D) Kalpakkam
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16.

17.

Around 75 percent of the country’s
total urban population lives in
urban centers having a population
pf ﬁom than :

(A) 1,00,000

(B) 50,000
(C) 20,000
(D) 10,000

From the Desh region of
Maharashtra, the tributaries of
which river offered convenient

routes for the peopling process to

~ Telangana and the littoral Andhra ?

18.

(A} Cauvery

(B) Godavari

(C) Mahanadi

(D) Tapi

Which region is drained by the
tributaries of Godavari ?

(A) Baghelkhand Plateau

(B) Madhya Bharat Pathar
(C) Dandakaranya
(D) Garhjat Hills

Geography-1I
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19. Regional planning was attempted

21.

using the concept of River Basin in
which of the following ?

(A) Damodar Valley Corporation

(B) Dandakaranya Development
Programme

(C) Sardar Sarovar Project

D) Tungabhadra. River Valley
Project

The Representative Fraction (RF) of

the Toposheet Number 72 F/11

would be : '

(A) 1 : 10,00,000
B) 1:2,50000
() 1: 1,00,000

M) 1: 50,000

The definition of Geography given
by Humboldt was in conformity with
that of :

(A) Kant
(B) Gerland
(C) Strabo
(D) Herodotus

Geography-II
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22. Which of the following is a 99 |« 44 “w-%’ 59 ?

mineral ? . .
o (A) A58
- {A) Sandstone .
| | (B) Ul
(B) Chalk
(C) Quartz © subs
(D) Mudstome N @) usdnt

23. Which of the following are the 23 -+{l3-u 14 sl Al oy doudi
dominant constituents of the w2l 8 7

atmosphere ?.

(A) witsaflor 2 Sgiwn

(B) Oxygen and nitrogen (B) 5|yl wA USZw

(C) Oxygen and carbon dioxide (©) »lsllopt A siof SLAsUSS
(D) Oxygen and helium @) syt 2 RRuy
24. The tides are highest along which 24, - 14 su sRul Bud otadl
of the following coasts ? Al ay Aot wA & ?
(A) Tamil Nadu ' (A afMa-g | |
(B) Andhra Pradesh | . (B) winMEY |
(C) Odisha | (©) il
(D) West Bengal @ WP sy

- . Geography-11 10



25.

26.

217.

Find the odd one from the given

names :

(A) Mineral resources
(B} Forest resources
(C) Petrolium resources
(D) Nuclear resources

Which form of settlement develops

along either side of roads, rivers or.

canals ?

(A). Circul.;:lr

(B) Cross-shaped |

(C) Linear

(D) Square

Which language speaking families
share the same ﬁacm region of the

Indian Sub-continent ?

(A) Aryan and Dravidian
(B) Dravidian and Nishada
{C) Aryan and Nishada

(D) Dravidian and Kirata

Geography-II
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28.

29.

30.
can be best represented through :

The gorges of Indus, Sutlej and
Alaknanda indicate :

(A) Rivers are older than the

mountains

(B) Rivers are ﬂowiné from North
to South

(C) Increase in height of the
Tibetan Plateau

(D) Rivers are younger than the

mountains

Which of the following programmes

is applicable to urban areas ?
(A) JNURM

(B) NRHM -

(C) DPAP

(D) ITDP

Age-Sex distribution of population

(A) Pie Diagram

(B) Pyramid Diagram
(C) Bar Diagram

(D) Divided Rectangles

. Geography-II
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'31. Who stressed on the study of 31

32.

inherited traits/cultural borrowings

in understanding man’s adjustment

to nature ?

(A) Alfred Hettner

(B) Ferdinanﬂ Von Richthofen
(C) Halford J. Mackinder

(D) Vidal-de-la-Blache

Which of the following is the

appropriate combination of

landforms created by rejuvenated

river ?

(1) Paired terrace

(2) Knick point

(3) Alluvial piain

4) Incised'.me.anders
A 1,2, 3 are correct
B 1, 2, 4 are c;}rrect
€ 2, 3,4 are correct

(D 1, 2, 3 and 4 are correct

Geography-11 13
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33 Which of the following is not an air

34.

pollutant ?

(A) Smoke _

(B) Carbon dioxide
(C) Nitrogen

(D) Sulphur dioxide

Which one of the following factors
is a cause of warmei' élimate of
North-Western part of South
America ?

(A) El Nino current

~ (B) Westerly wind

. (C) Peru curfelit

(D) Closeness of the sea

Intensity of irrigation is defined -

as

(A) % of area under double
cropping

" (B) % of well irrigated area to the

net iri'igated area
(C)- % of net irrigated area to net
sown area

(D} % of net irrigated area to the
total geographical area

Geography-11 -
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36.

37.

38.

Settlements are g_enerally classified

on the basis of :
(A) Form, size and function
(B) Location, size and fuhct.ion .

(C) Site, form and location

(D) Situation, location and form

Social evolution of language is

36. =t Nd adsdart alsal

317.

believed to have arisen with the .

discovery of the art of :
(A) Agricdlture

(B) Music

(C) Tool-making

(D) Writing

Which one of the following is not

a fact regarding South India ?

(A) Diurnal range of temperature
is less here

(B) Annual range of temperature is

less here

(C) Temperatures here are high
' throughout the year

(D) Extreme climatic: conditions

are found here

Geography—il
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39.

40,

41.
~ Andes Mountains and disproved the
earlier theory of sedimentary origin

Geography-II

Mulitiple Nuclei Model of city growth
was proposed by :

(A) C. Harris and E. Ullman
(B} Homer Hoyt
(C) E. Burgess

(D) Von Thunen |

In which of the following colour,

is ‘vegetation’ shown in false colour
composite images : | |
(A) Yellow

(B) Green.

(C) Blue

D) Red

Humboldt studied the rocks of the

of ‘all rocks proposed by :
(A) Buache

(B) Bonpland

(C) Davis

(D) Werner
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42.

The concept of Panplane was first
given by : '

" (A) Davis |

© (B) Penk

. (©) Cnckmay

43

.. (B) Intra T_rade Convergenee. Zone

GJ)K?ns

The zone where North-East and

South-East trade winds eenverge is

- known as :

(A) Inter Trade Convergence Zone

(C) Inter Tropieai Convergenee
Zone ‘

D) Int_fe Tropical Convergence -

- Zone -

Surface ocean currents ti'_anafer

heat from :

(A) Greater depths to eea surfaee

(B) ngher to lower latlt.udes
(C) Sea surfaee to greater depth |

™) Lower to hsgher lat:tudes

Geography—ﬂ
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Geomphy-ll

is worked out by :

(A) G-rosa Natlonal Product and

GrossDomastlcProduct '
®) GroasNahonalProduct_
(C) GrossDomesthwdmt

(D) Human Poverty Index and_ :

Human Development Index

explosxon ?

45 Thepereap:tamcomeofawuntry -

46. Whichoneofthefo]lowmgexplams- |

. the best about populatmn'

() High! btrt.h rate and high death

 rate’

rate

(B High birth rate and low desth

" (C) Low birth rate and high death

. rate

" (D) Low birth rate and Jow--agath_

. rate’ .
47 Thownsmofwhmhyearmanch

aomveofdatnonthe populatmn of =

castes?

® -'1931_.' .
. (©y 1941
. @) 1951

18

47.

2ul sualist wadls suasl
ARAR 51l e 94, il c?lqm
87

(A) 4@ Uy fzrma-t u-l g;et uig -
(wua-t - - |

| (B) ,aa Wy ('Qr\llf-.vt |
(©) §4 Wi Gewen )
'(D) Hirid atilollaus u-‘i WA [a.sm_

Mt&

R A4 0 6 B el Rtz
W2 il ay ?ali;lt_?.sl.l.&_ é’

(B) G weate WA -ﬂal YYel

(C) Al e @A @a‘l el

) i&a‘l_"'&'vn‘a% u-l—_' —[lat‘l&rgu -
.qt-[-[l mamvu (um zu‘kt 6 r
@ 1821 o

| ® 1931

" (©) 1941 |

@ 1951



48 What 1s cnmmon among Sh1m]a,

'Panajl, Pondlcherry and Asansol E

-All ofthemare

dunng Bntmh penod .

48

a&neu mw m[%ilil a»ﬁ mu-n&a | -'

. _ral@.um g zuutcu 37

madebantmhem Porh:guese, -

Dutch and French

| . '_'(;u') Towns whlch developed as'-

maJor towns ‘in mdependent

Indm

 ® G
;(c) @) hnd':(iii) L
_.(D) Al the three

' _;49.'-Wh1chanalymsmused.todetermme:

f_"the opt1ma1 location of central R

-'mevement and ot.her costs ‘? o S

. _-__'(A)- Inpl_lt-'Qutput
(B) Social Area

©) 'Economic Ba‘se' '

(D) I.;ocatmn-A]]ecatwn B S
S8

Geography—-ll

| N [&élu Ay uuuvt 2l aéa‘t
@ MBJOI' towns that ¢came up_% o -

(as@{q tunu 3

I' 'T_ (u') ‘The towns areresult of efforts_’_--_ .-(u) [ﬁfl&l% ‘{\éc'ﬂab 831 %l-l 53{, o

i _-'algtg; .;mu-ﬁn&_. w ud? ol

";'\"_(m') %qcm ouza%u ::u ua,a.lvu 31»«1_:' |

o su.&zl dil!v [?wa uau 3;_ o

-_(A)_-_'(i)_and_(ii) IR '--_-.‘.(A) @ WA )

:-?."_(B) @ M—‘t G

S -facxhtlel in erder to m:mmxze-_,_

- 49 '

R} (mavu 71@31

Mtq-mqv[l A 3 U E‘td :m[[%d_' |

A w3l ydu adlas mé:,: e -
o A s A A S
_“ur.[a a‘lall q& HABIRE Q ‘? B

| ""(A) 6rtga—w(azga

®) wnlys [a:ecua. :

. "(C) s iz

o (D) :eeuvt—m%u-t Fm[a.et
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50

Whlch one of the fo]]owmg is the

) ‘measure of dmpersmn ?

. (B) Mode o

L ::'.'-.'(c_)' Standard deyiatiﬁﬁ'-’. ,. 3‘

- '(D)-Aifiﬂﬁnétic mean

&) Hetimer |

Whose sclentlfic stance was

: teleologlcal ?

. (B) Humboldt

(©) Richthofen

M) Ritter

Rocky de_ﬁei'_ts_ are knowri as :

- @) Regs

| (B) Hammadas

(O Bajadis

D) Ergs

r_tlﬂ'-un;eﬂ ED) 'ud[&eﬂl._uéaet_ | ufiuq -".

e

. (D) 2istcs ’-I.“L‘:

51,

. '_ (B) qgc-us

o .-_(C) mul'ém [ﬁaa-t- |

#

TQ.QQLE';L amm qeva ste‘t zdlstg(f_-

e

'- -.-(A)'é.'af-ﬂ' o

- (B) il s

52.

© -[?a_!s%it?:vi_ : |

"'('D) [1’32 o

(A) %am

(_B) e*_éusw: __

© _"fwsm o

D S
-

_'uzsstcsl w s -m‘t ulcnuuq RN

',-".‘2



'58. The wind which flows down the

53.

slopes of the inland mountains

during winter season is known

- AaB

. (A) Anabatic -
- (B) Trade wind -
(C) Katabatic

(D) Westerly wind

mmm_vlllm‘ezuu& % yarl, uddiri

. i»dd&élh_écnzw-alquﬂ —ua.-a'azs -

" .'a_Ll'a'_si'Q sl :oﬂ,q:.uq 87

. Which type of natural hazard causes

maxzimum damage to human life -

| '%‘_ild property '?

‘ (‘5)- Hydrological

(_ﬁ) | Hydro-meteorological : |
©) Geologica;l

@) Biological

@) udRe

® aud wad

™ APt uadl

S UsRL gerdl NANAL s1R4

Wraart da Pesdd el ag q,séu-t T

oA ?

21

(A) %y,

® wa—sauly

-~ (C) oRadly

® s

- iR-T-O-l- .



"following is ‘true ? -

__CA) Itmasystemoffnrmmgwh;ch

_ depends on goil’ momture

' eonservatmn and not n'ngat:on

(B) Itmlmportantmamsmth'

adequate u'ngataon fauhty

- ©) Dry_ farmmg_ nreaa_ have high

| agricultural efficiency .

are true

. As 'pe_i" th.'e. ‘Census of India .

| classiﬁéﬁtion‘ of towns, cu;ss-m

e tﬂwns have 9, p0puhtlon of

C '-:_(A) 50000&;9999@

(B) 20,000 to 49,909°
(©) 10,000 to 10,099

| 5_’0)) 5000 to 9999

ﬂwaphy—ll

55. ‘-{li-u-ﬁm-ﬂ .?qgmca.* WA Asudal

| to‘DryFarmms’ state "’f"*‘h °fth°‘. o _.-af'&*ue& g R #49 qul-' B

@) A A u«[&s) I

| (i\lQ | d[&

- - Ayasnala (m_. mtm 8

; (D)Anthe gibove'three__state?ments i

:_-:qaﬁswm qa[—a “Al u@.'&tu iadl_ L |

- ® Rausd Yl Adas g_lq dai

32l A ag Hecadd B

| © 4 Pl oy M

a8

— (D)- Gu-u a@.u- [&uﬁl mati & |

ouadiy mam-u H:Bll?. u&ﬂ-u .

| _(A) 50000@[199,999"'_-. L

(B) 20,000 ¥l 49,999

t R

(©) 10,000 f 19.999

©) 5,000 4 9,999

ua el



57.

The first linguistic survéy’ of Indlﬂ
was conducted by :

| (A) Barber

58.

| (a) Abors

(B) EM&dc -
(C)- Grierson '

(D) Khubchandani

‘among the gwen answers :

List I '-,Listn_

Tribes ' Regions

@) Bhils (2) Himachal Pradesh

© Geddis (3) Andhra Pradeah
(d) Onges @) Little Andaman
@ ® © @

e w e @ 2 W w @ e

B O @ @

©e o @ @
e @ o e .
~ Geography-I1I |

" *uélx

(1) Madhya Pradesh

| 57 "«uﬂil Ryl SR ua s
e ?
7N .euptz..
- (© atlmu—;-
' '-"(D) t-mu—ll

Match L1st I (Tribes) with List 11

: 'ﬂil'ti 'é’lsst ’-D.W. z'l& ﬁsqt W2 zuzﬂ -
(Regions) and ﬁnd the comct lmk' o :

'it-u at'l%ﬂ

r:_m o

o oweR . wie
@ weld

@ Wy
e ole @ Rwae wa

@ atf.glu (3) i uew

- (d) a-ﬂaw (4) [aaa »uum-t-

@ ®» o ‘@

B O e W
To® o @ @
L o®w @ o @




' 59

Block Leval Planmng can. be
classlﬁed as :

(A)MaaolavelPlanmng

- (B} MesoLwel Plannmg .
” ;(C) Micro Level Pla.nnmg
"(D) Sectoral.Plnnmng

‘area. Whatwﬂlbethenewscnle‘? .
B

(D) 1
6L
| phlloéophsrs on the basis of the '

'progress of view on man-

'_ ) 1:

A‘map with a scale of 1 : 250,000

can be enhrged four tunes of 1t§-
(A) 1: 1,000,000
5,00,000
1,25,000

: 62,500

Find the correct order of

" environment relatlonslup

L . .. (A) Ta.ylor, Blache, Ratzel

® Taylor, Ratzel, Blache

© Blacha Ratzel, Taylor

(D) Ratzel, Blac.he Taylor

Gmphy-ll

59.

61.

L@ i
© 1

M 1:

sells Quie wer-3n su adlls-i oyl
87

(A) gue iy ;vuqlw;i

(B) 34 1T wpiwe

(O Y™ DY e
D) Mgl iy

1: 250,000 31Ul A5WA R AR

ol Pqafildl s W dl
st MR &Y

1,000,000
: 5,00,000
: 1,265,000
62,500

sarta—vulae 2isig bii-u equl

| mt[&-u 2w rta&m—& Sl 6% t&an | |

'-s)&tuiil

(A) 2R, oqiu, 323w

B) WR; 123, sy

U (©) s, 23a, 243

o i, o1y, 242



62.

Ancient beach ridges are indications
of :
(A) Retrogradation of the coast

(B) Progradation of the coast

(C) Oscilating of the coast

" (D) Degradation of the coast

What generally happens to air

temperature as we move up in the

troposphere ?
(A) Decreases

(B) Increases

(C) Remains same as in troposphere |

(D) None of the above

The study of relationship of ¢4,

individual species to its

environment is called :
(A) Autecology

(B) Synecology

(C) Habitat ecology

(D) Paleoecslogy

Geograﬁhy—l!

62.

63.

Wil R Idue-ll s g

yua 87

(A) a[iq_t[%vuu:i nRoBA
(B) eRul-uriq de Gosua
© tRuilkr1y Siant

D) a[‘zu.l&-uit:j, BASHA |

sivimia Il AL 2™ G
wadl FSN A saltt AL 4

BB WY

(A) 42 8

B) ad 8

(C) tienadl 34 o ad &

(D) 6w A4 Asuw Al

dul3a s uealazil 7 a4 vulaesu

&t-itt‘l-u_ ARAA 58 O
A) quRRyl [ﬁam
(B) s WRRuR Q-

(©) adalz WRRRala Ra

O 4-wRBul Raut

[P.T.O:}



65.

- 87

In larger region there are many
small towns, a smaller number of
medium sized towns and relatively
few large cities, j)tihciple that

explains it is known as :
(A) Central plncé theory
(Bj Census classification of towns
(C) Demographic transition theory

(D) Rank-size-rule

. . A town whose name appears in the

old record book but is ne longer
inhabited is called a :

- (A) Ghost Town

(B) Lost Town
(C) Engroised Town
(D) Old Town

The concept of Heartland was
propounded by : -
(A) Hartshorne

(B) Mackinder

(C) Hitler
@) Semple

" Geography-11

N

. Rwa Rau i wal u-u udll,

WML Vst MUK Seet] Ad R A

vt s 2t ndA el Gy Aa

Rl syl Mugid gl asadl
usy ? '

(A) s 2wt Rueict
(B) dxdl ol suullRd usdid
Qls@ | |

(©) axll Asunt Rl

D) M-se—-F/3es ASH 3¢ -

cag wdy By et e ~daell opsl

8 W Qi qaxll 44l d 54 udR
sda ?

(A) Wik 20
(B) @iz a6
(C) ¥w3lirs 264

(D) ®iles 26
. ‘aiddes’ <l Rsuaq sld

adl 7
(A) siéati

(B) ks

(©) R2ar
(D) Arvd



68.

-69.

70.

- (B)

©)

The rivers having their source of

origin near lake Mansarovar are :
(A) Ganga, Yamuna, Indus

(B) _Ganga, Indus, Brahmaputra
(C) Brahmaputra, Indus, Sutle)
(D) Ganga, Yamuna, Brahmapﬁtra

Which of the following is not a
characteristic of the Central

Business District ?

(A) Accessibility

(B) Multistoried buildings
(C) I-Iigh land value

(D) Lots of open space

Which of the following technology

uses satellite ranging technique to

determine the three-dimensional

coordinates of a point on the

ground ?

(A)
Satellite System)

GIS (Geographic Information
System)

WLL (Wireless in Local Loop)

D)
Access)

Geography-I1

68.

69.

70.

GPSS (Global P.ositioning '

CDMA (Code Div_isibn Multiple

27

A

®

56 5§ A<lvilg Geararalr MAUAR
s & 7

(A) o, wytL, Riy

(B) oo, Rig, wsyr

©) ﬁ&l}pl,‘ Riy, .%lc.lél"d'

(D) °l5u, UYL, WELYA

A1 A4 54 3edlu 2801 eum
-4l ?

(A) JAHdl

®) ool SHidl
© il Gl B
O) R vedl gouw

ycﬂ awdl BuR 515 s wanl |
Br—uRuilRy si—2ifEAeyn agal
w2 Gunedl Heedl sidd 59

25l Guyiol Y 9 7

GPSS (Global positioning
- satellite system) |

GIS (Geographic information
‘system)

(C) WLL (Wireless in local loop)

(D) CDMA (Code division multiple

aceess)

[P.T.O.]



71.

72,

While Davis’s concept projected

geography as the study of man-land
relationships from a deterministie
perspective, geography as the study

of covariants of human distribution

over the earth’s surface was viewed

by :

(A) Hettner
(B) Ratzel
(C) _Richthofe’n

{D} Schluter

The Sunda French is a boundary 72.

‘between :

(A) Indo-Australian Plate and

Bﬁrmese IPlate
(B) Asiatic Plate and Pacific Plate

(C) Asiatic Plate and African Plate

(D) Asiatic Plate and European

Plate

Geography-11

28

71.

SR dsent wud Nl opila
) ida—oyf Adelal e+l Falas

wRAA & dl uuA Yl A

Hida [AdBAL AsAIAL 201

ol B A S0 YAl B ?

(A) d2+1R
(B) 3224
(C) [R5

(D) ¥y

QsL 3+’ 56 & ol a2 udel)

8 ? |

(A) S-sl—wid (aun opdldd -
oAl oydl3d

B) ARWds oqal3d a’ﬁ YRz 5
o4d3a |

(€) AlRWAS odBd w3
o4l |

@) AReudls MHl¥ vt yivlus
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73. ‘Heat Waves’ are declared in India 73. GUAML 3-\[1'5 T L OTR %R& HeuM

74,

D)

when the daily maximum

temperature exceeds : |
(A} 35°C
(B) 40°C
(C) 45°C
(D) 50°C

Which of the following statements

is not correct ?

(A) Flow of enérgy in an ecosystem
is unidirectional from

herbivores to carnivores

(B) In a food chain, transfer of
materials taken place through

cycling

(C) Top carnivorus always get more

energy than organisms present

nearer to the producer

Unidirectional flow of energy
prevents the ecosystem from

collapsing

Geography-I11

74,

Al Sedl g ARyl qal
Ay &t i [®Re da/ald wWix
M SAUHL 2D ).

(A) 35°C
(B) 40°C
(C) 456°C
(D) 60°C

AAw A4 4 @z 2wy Al ?

@A) Sal Whd-il daLs s
Rawsi, duewell]l yineitll azs

ad &

(B) “is smarni ueldq de-

Qs AL wn

(C) G HiAsil sl Gewes-l
W5l WA Sl 4 Uldd

(energy) "l_“lal 3]

M) As Rwnl owdi uld- nas Ssit

Riemn usl ol 2 8

[P.T.0.]



75. Statement I :

In the tropics altitude is very

important for agricultural land use.
Statement II :

There is an upper limit for the

- location of favourable land for

agricultural pursuits.

(A) Both are true and statement I1 |

is the correct explanation to

statement I

(B) Both are true but statement Il
is not the correct explanation

to statement 1

(C) Statement I is correct and

statement II is incorrect

D) Statemént I is incorrect and

statement II is correct

. Infant mortality refers to the death

of a child :

(A) Within 1 year of birth
(B) Within 1 month of binil
(C) Within 1 week of birth
(D) Within 1 day of birth

Geography-I1

30

75.

76.

A I

GoaslRoilay  ueuni - vdlsly

omGuEieL W2 s wddl Gaus As
AU Wk 8.

A 11

g AdlBa ol we GlasHl
yylel o1 owd 8.

(A) oi [Qau- WAl 8 21 QA 1T,
Aair T o el 53 &

(B) 6l Qe 2wl © st Qi 11,

Qi T 4 aued s «elt

(© [Ru Tz & Ful QA 11
wWig &

O Rud I wig & wud Rudt I

WY O
LAYy ved ¥t gl

-------

AMRRUAHL sUsT Yy WY A,
(A) s alell lieot wnal

®) As wR-uell S0 AU
(C) ¥ wsauSwell sl AHYHL

M) s Bayell o AHAHL



77. Which of the following is not a buffer  77.

78.

79.

.Geography-I1

state ?

(A) Nepal

(B) Bhutan
(C) Bangladesh
(D) Myanmar
Rann of Kutch belongs to :

(A) Fresh water marshy land
(B) Sandy desert

(C) Saline wasteland

(D) Badland

DPAP. in reglonal planmng stands
for : '
(A) District

Planning and

" Alleviation of Poverty

(B) Drought Prone Area Program

78,

(©) Drought. Program and Action

Plan

(D) Distriet Planning for

Agricultural Production

79.

. 81 -

Qa1 A4 sy ‘asy w2’ (wwadl
APy) Al ? -

@A) Awd

(B) cjit |

©) ﬂlomi.gl' k

D) UAMIR

5%9g W UL WY B 7

(A) st well-l siecaflasainl uBa

B, idld @

(6) WIRL vRteudl gy

@ was Nl w3

RRRLs sl DPAP. - vl

) : -

A) Rafls re{lo1 A5 Axdu-t v
Yad |

(B) gl2 u‘tv_i a_i_ﬁtu ML

(©) §"La HBUM NS BR5UA elle

@) [Radls randlo g1k S3llseure
MSHUA

[P.T.0)]



. 8l.

(A) 25th
(B) 50th
(©) T5th

) 100th

The Schaefer Hartshorne debate of -

the 1950s brought about a

- distinctive shift in emphasis from :

(A) Areal differentiation to spatial

mtegra tion

~ (B) Physical geography to human

82,

geography

(C) Neo-determinism to possibilism

(D) Radicalism to humanism

| The dinosaurs group of animals are
 related to :

(A) Palaeﬁzoic era

(B) Mesozoic era

(C) Cainozoic era

(D) Azoic era

' Geography-II

81.

A

" 80. Which percentile is equivalent to  80. s d2ai adys (ud-ada) sl
* the median ? | |

8 ?

" (A) 25

(B) 50

(C) 75

(D) 100

§.%. 1950 i (s atdaid axl

- ey seendl 5§ onod ¥ QAN

ol ¥sul gdl ?

A Aoy wealadl  gowislL

Reus-u) 2Asad W

- ® olllas opiadl ntwdqoﬁm' |

- (C) na-[ufaed] ﬂ.ﬂqc.l-t'é_.

- 82,

32

@) WRisaed weaqse

U1 AU 56U (era) 13U

SR usReL Rl Aal Wl

ol

(A) A5 seu

(B) AASs seu
(C) 3UAis sey

(D) %S?fﬁas‘u?& seyY



83. On a clear summer day the surface

of the land is usually warmer than

the surface of a nearby sea because :
(A) land receives less insolation
(B)_ land reflects less insolation
(C) land has l:.ligher speciﬁé heat

(D) land has lowest specific heat

84 Afood chain consists of :

(A) Producers, primary consumers,

carhivores

(B) Primary produeeré, herbivores,

carnivores

(C) Producers, | carnivores,

decomposers
(D) Producers,

consumers,

decomposers

Geography-11

83.

1% 2SI YA Gruar Rad
ol drusu Ay Jd a-ll
sl At Wl awd-u
AL Sl 44 A 4 § s
3

(A) wl4 sl Yulaa Aad 6 |

(B)- i+t g Yulaud vnad- 53
8

(© 0 ay QAlre 6w w4 8

@) 0 uR gl AR Gy sy
3 |

84. “iias guidll 3 S :

(A) Gcwues,

winlis  Guetist,

et

(B) winlis Guolisdi, qasisl,

el

©) Gowes, Wi, Ausal

®) Gaues, @uoi‘wm,' Ruersal

[P.T.O.}




Geéography-II

85. ‘Area not available for cultivation’
. was >15% at the time of
independence and it declined to
< 10% in 2012. This was a result
of which of the following factors ?

@) Expansion in the area under
housing '

() Decrease in the percentage of
barren and uncultivable land

(i) Increase in the catchment area

of rivers and deserts
(A) (2 and (i)
(B) (i) and (iii)
(C) ) and (i)
(D) All the three

. Census of India considers a person
under the category of ‘main worker’,
- if ‘he/she is engaged in any

economically productive work -

(physical/mental) for more than how
nuiny days in a year ?

A) 175
(®B) 183
©) 200
) 210

34

85.

el ddat uy d A4l Al w2
Gualovil « 2uadi [l asiad]
15% sl ag wdl, ug 2012 %i Ao
MU 10% Sdl w@l vy 8. A
stal 02 3o Q.

G yslafe s l{iauzni qdey
CUTER |

@) USAReyM A BrGulo) oM
uddl yaisi,

) € vl R WA

86.

WML 4ddl quRl.
(A) (@) 29\ (i)
(B) (i) WA Gii)
(©) G) ™A i)
(D) Gu-l =8y

Yoy Ay’ 4 eudla ?Jvtam-u-[l
oyt A ql- deal l'%.éa we
Al b5 Gewed uaRAL Asida
dlat ASA ?

(A) 175
(B) 183
© 200

D) 210



87.

89.

Which of the following is

Polytheistic ?

~ (A) Christianity

(B) Hinduism
(C) Islam

(D) Zoroastrianism

Saurashtra plateau has which type

of drainage 7

(A) Ra'dia.l

(B) Parallel

(C) Trellis

(D) None of the above

NCR refers to which of the

following ?

(A) National corridor region

(B) National capital region

(C) National and central railway

(D) National central region

Geography-1I

87.

88.

89.

A W4 sw il 28 taed

Al 2wy B ?
A) Bdl

(B) g

(C) e

D) AP BB

dlaredt G R 59

azlel 8 7

A) B yaulRae
(B) Adid AR
(C) ellaust yaulRas

M) Gu U4 As wa «dl
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(A) Audd A9 ANwust

(B) Aud 3fuea ot
(C) Aurda 24 Azd L]

(D) And A4 Ay
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90.

91.

92.

PRA technique is used for collection

of :

(A) Primary data
(B) Secondary data
(C) Vector data
(D) Raster data

Who was the first to propose the
elliptical movement of the celestial

bodies ?

(A) Copernicus
(B) Galileo
(C) Kepler
(D) Newton

‘Colluviam’ belongs to which of the

following deposits ?
(A) Fluvial

(B) Glacial

(C) Limestone

(D) Aeolian

Geography-II
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sy Uil wledl AsHd s w2

PRA ugfd quy & 7
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B RRwjsia wRd
(C) 4522 WRdl
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‘sieg@Quy’ sul RAYAA 5139 o
8 ?

(A) ~t€lgd
B) [Bxnglga
(C) Y-l waR

(D) Yarigd



93.

94,

(D)

According to Koppen’s climatic

‘classification, BSH represents :

(A) Tropical savanna climate

B)
- climate o
(C) Tropical desert climate

Tropical moist deciduous

climate
Statement 1 :

Deforestétion leads to floods and soil

erosion.

Statement II :

" Floods and soil erosion are because

of the silting of river channels.

(A) Both statements I and II are
correct and statement II is
the correct explanation to
statement 1

(B)
correct but statement II is not
the correct explanation to
statement 1 |

(C) Stateinent I is correct but

statement II is incorrect

(D) Statement I is incorrect but
statement II is correct

Geography-I1
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(B) GeasReielly 0L, 29 yvs A
wiollal
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C) Rauid T Wy O wwl [RQa IO
wig 9

D) QA I W 8 wul et 11
Wy B |
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95.

97.

(B) Himachal

What is the process of De-agri-

culturalisation ?

(A) Shift of main workers from

" - agricultural sector to non--

agricultural sector

(B) Shift from subsistence farming

to intensive farming

(C) Increase of agricultural

eﬁic;'ency and productivity
D) | Use of Hyvs, pesticides and
. intesecticide
The firsf census of India was
conducted in the yéar_ .
&) 1872
(B) 1891
(C) 1911
(D) 1.931

Which state of India has not
reported any Scheduled Tribe in its

population in the census count ?

97.

(A) Andhra Pradesh and Madhya

Pradesh

Pradesh
Arunachal Pradesh

and

(C) West Bengal and Kerala
(D) Punjab and Haryana
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®) 1891
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98. Which one of the following is not

~ correctly matched ?
Dams .Rivers

(A) Balimela Dam  Indravati

(B) Nagarjun Sagar Krishna
Dam | |

- Tungabhadra

(D) Rana Pratap Chambal

(C) Nira Dam

Sagar Dam

99. Regional desparity in development
arises out of :
(A) Terrain variation
(B} Resource variation
(C) Resource alloca]'on-
(b) All the three ‘

100. The small ‘b’ in the regression

-equation implies :
(A) Intercept .
(B) Coefficient
(C) Quartile

D) Variance
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